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B 694 40 22 24 780 1 690 | 150 | 100 940 1,720
B 2 824 40 22 24 910 : 690 | 150 | 100 940 1,850
B 953 40 22 24 1039 | 690 | 150 | 100 940 1,979
BN 4 1,102 40 22 24 1188 | 690 | 150 | 100 940 2,128
BN 5 1,252 40 22 24 1,338 : 690 | 150 | 100 940 2,278
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OXREBEWEME 200 7 [E (A2[E%RE) OBITXREME 12M.H
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BNE 1,388 80 44 48 1,560 E 690 150 100 940 2,500
BNiE 2 1,648 80 44 48 1,820 E 690 150 100 940 2,760
BNiE S 1,906 80 44 48 2,078 i 690 150 100 940 3,018
BNE4 2,204 80 44 48 2,376 E 690 150 100 940 3,316
BENES 2,504 80 44 48 2,676 E 690 150 100 940 3,616
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BNE 2,082 120 66 12 2,340 E 690 150 100 940 3,280
BNiE 2 2,472 120 66 12 2,730 E 690 150 100 940 3,670
BNiE S 2,859 120 66 12 3,117 i 690 150 100 940 4,057
BNE4 3,306 120 66 12 3,964 E 690 130 100 940 4,504
BENES 3,756 120 66 12 4,014 E 690 150 100 940 4,954
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